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DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - WINTER 2016

Subject Code: 351905

Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Estimating, costing and contracting

Time: 10:30 AM TO 01:00 PM

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
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Draw and explain block diagram of selling price and catalogue price.
oclls staAUH ofl Hegdl QUL (BHA A F2AOL (SHA UM A
Define costing and state at least six advantage of costing

SIRSoL ol cartuatl U, SIEEaLetl ALILHT UL 89 SLAEL HRUA .

What is depreciation? Explain any four methods to calculate depreciation.
YARL AeA 9 ? dARL ol aLdlo{l S5 url AR At AU A .
What is overhead? Explain any four methods to calculate overhead.
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OR
A product is produced in a batches of 100.Direct material cost is Rs. 160 and
direct labor cost is Rs. 200.Factory overhead is 35% of prime cost .Overhead
charges are 20% of factory cost. If the profit is 10% of total cost ,determine
the selling price of each product.
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Explain cost estimation in arc welding and give factor affecting arc welding
cost

S AL HL W ofl alAZl UHA A WA ML ACSIOL WA WAUR
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A bar stock of 20 mm diameter & 100 mm long is to be converted in to square

bar of 20 mm side by drop forging. Calculate the length of square bar.
Consider 7% scale loss.
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Explain method to calculate total cost of gas welding.

A Aeslol Ui 2led slke Auclell utudl uHesal.
Explain the losses occurring in forging process.

SIDL gMalot AUl AR UHSLAL

Derive equation to calculate BEP by analytical method.
Aalcldlsat Aas &l BEP 2luclle] Yot Aol s:A.

A factory has fix cost of Rs 10000.variable cost /product is Rs 2.selling price
/product is Rs 4.Find breakeven point. Calculate margin of safety if net actual
sell is 8000 unit. Also calculate sells target if the factory has to earn a profit of
Rs 6000.
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OR
Define pattern. List and explain types of pattern allowances.

Veol ol catvaul AW V2ol AclBot ofl alEl wottcll AHA
Explain approach an over run with respect to milling operation.
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What are the factors to reduce cost? Explain in detail.

w2 gelsclotl B il Sl2eset i Ul
State the conditions of contract. Explain any one condition.

slozlse ofl ARA aBUcl o A As AHesLA

OR
Explain modern tools and techniques to reduce cost.

Wl atsal HiRell et et wal 25ollsU UM
Define budget. List types of budget. Explain any one in detail.
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